
 

 

 

ErgoDesk 
Assembly Instructions 

 

 

 

 

 

WWW.MEERGO.COM.AU 

http://www.meergo.com.au/


A. Desk Feet x 2 B. Desk Legs x 2 C. Brackets x 2

D. Control Box x 1 E. Handset x 1 F. Power Cable x 1

G. Beam x 1

LIST OF PARTS

J. M6*10 
 x (4+1)

K. M6*14
 x (8+1)

L. M6*12 
 x (12+1)

M.ST4.8*19
  x (2+1)

N. ST3.5*19
   x (2+1)

O. ST4.8*25
   x (2+1)

P. Rubber Cushion
      x 6 

Q. Plastic Pad
        x 6

R. Cable Clip
         x 5

LIST OF SCREWS & TOOLS TOOLS NEEDED

       4mm Hex Key
 （included in pack)

Screw Driver
(NOT included)



Step 1. Place 2 desk legs (B) on the floor, facing each other. Hold the support beam (G), 
let it slide down from top of  the legs.   

G

B

L. M6*12
      

Step 2. Put 8 Bolts L into the pre-driller holes on each side of the beam, tighten them by Hex Key  



C

K. M6*14

K. M6*14
Step 3. Attach Feet (A) to the desk legs (B) with 8 bolts K.

L. M6*12

L. M6*12 Step 4.  Flip over the assembled beam and attach 2 brackets C on each 
              side of the beam, put 2 bolts L on each side of brackets.  
              



 

P

Q

Step 5. Insert 6 rubber cushions (P) into the beam and brackets.
            Then put 6 plastic pads (Q) into the rubber cushions
            from bottom.  
        
               

J. M6*10

Step 6. Turn the frame upside down, release 4 J bolts which had already been 
             attched on the beam, make sure the legs can slide. 



J. M6*10

Step 7. Lay the desktop upside down, place the frame on the back 
             of the desktop and slide the leg until the pre-drilled holes 
             fit the desk holes, tighten the bolts J. Put 6 screws O into
             the assembled plastic pad, tighten all the screws.

N. ST3.5*19

M.ST4.8*19

Step 8. Put Control box (D) in the middle of the frame (for desktop 1500mm or longer), 
             or next to the frame (for desktop shorter than 1500mm). Fix the control box (D)
             with screws N. Attach the handset (E) and fix it with screws M. 
             
       

D

E

O.ST4.8*25



H

M1
M2

1 2 3 4 M

AC

Step 9. Connect the 2 leg cables with slot M1 and M2 on the control box. At the same side connect the 
             handset cable with slot H. On the other side of the control box, connect the power cable into
             AC slot. 

1     2     3     4     M     

Step 10. Turn over the assembled desk and let it stand on the floor, then plug the Power Cable 
               into the power outlet. Your desk is ready to use.

NOTE: Make sure there are no obstables on the desk’s path whatever up or down. Make sure 
            the desktop is not too close to the wall or other furniture. Make sure the cord length 
            left over is sufficient to accomodate change in height when moving up and down. 



INSTRUCTIONS FOR USE 

 

 

 

 

 

 

 

 

 

RESET THE DESK 

The desk must be reset prior to use at the first time. Press “up” and “down” buttons at the 

same time until it beeps, the screen displays the lowest height; the rest is completed. 

 

HEIGHT ADJUSTMENT 

Press and hold “Up” or “Down” key to adjust the height of the desk. 

 

MEMORY PROGRAMS 

Adjust the desk at the level you desire, press and hold “M” for 3 seconds until the height  

on display flashes the press the number you prefer to save the height, e.g., pressing 1,  

the screen will display P1, then the Key 1 has saved the current height. 

 

ONE TOUCH OR CONTINUOUS TOUCH FOR MEMORY PROGRAMS 

One touch memory preset is the default setting, i.e., press the saved preset key once and  

release, the desk will move the height it saved. However, it can be programed to contiguous  

press on the memorized height if preferred. Press and hold “up”, “1” and “2” keys at the 

same time for 2 seconds, one beep indicates that the system has been stitched to 

continuous touch, 2 beeps indicates that the system has been switched to one touch.    

 

SWITCH DISPLAY PREFERANCE WITH CM/INCHES 

Press and hold “1”,”2” and “M” at the same time for 5 seconds, the display shows flashing 

“C-I”. Press 1 for displaying height in CM, press “2” for displaying height in Inches. 

 

ANTI-COLLISION SENSITIVITY ADJUSTMENT 

Press and hold “1” and “2” at the same time for 5 seconds until the screen displays flashing  

“ -X-”, press “up” or “down” to adjust the anti-collision sensitivity from 0-9, 0 represents the  

least sensitive and 9 represents the most sensitive. The factory default sensitivity is 5. 

 

MEMORY PREOGRAM INITIALIZATION 

Press “up” and “down” buttons at the same time. After the reset is completed, press the 

DISPLAY SCREEN          U P    DOWN           MEMORY HEIGHT      MEMO RY KEY



“up” and “down” buttons for 15 seconds until it beeps and the display shows “-“, which 

indicates all the previous memory setting has been cleared. 

 

MAXIMUM AND MINIMUN HEIGHT SETTING & CANCELLATION 

The desk’s default height adjustable range is 66CM - 131CM.  

However, this range can be adjusted within the above range by customers. 

⚫ Maximum Height Setting 

Adjust the desk to the desired maximum height, e.g.,125CM, press “up” and 

“down” buttons at the same time, hold the “up” button and release the “down” 

button, then immediately press the “down” button three times, the setting is 

completed when it beeps. 

⚫ Cancel the maximum height setting 

Adjust the desk to the pre-set maximum height, e.g., 125CM and repeat the above 

procedure to the cancel the setting. 

⚫ Minimum Height Setting 

Adjust the desk to the desired minimum height, e.g., 72CM, press “up” and “down” 

buttons at the same time, hold the “down” button and release the “up” button, then 

immediately press “up” button for three times, the setting is completed when it 

beeps. 

⚫ Cancel the minimum height setting 

Adjust the desk to the pre-set minimum height, e.g., 72CM and repeat the above 

procedure to the cancel the setting. 

 

 

 

WARRANTY INFO 

Every MeErgo products come with limited product warranty depends on different products. 

Our products come with a guarantee that cannot be excluded under the Australian 

Consumer Law.  

To more detailed information about warranty policy please visit: 

WWW. MEERGO.COM.AU/WARRANTY. 

 

 

 

 

 


